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1. Convert each of the following binary representations into its equivalent base ten form:
(a) (2%) 10101 (b) (3%) 110.101

2. Convert each of the following decimal representations to its equivalent binary form:
(a) (2%) 35 (b) (3%) 5.75

3. (10%) What are some differences between a transport layer based on the TCP protocol and

another based on the UDP protocol?

4. (10%) List three necessary conditions for the occurrence of deadlock in an operation

system.

5. (10%) What sequence of numbers is printed by the following algorithm if it is started with
input values 2 and 1?
pocedure MysteryWrite(Last, Current)
if (Current < 100)
then ( print the value assigned to Current,
assign 7emp the value of Current + Last;
apply MysteryWrite to the values Current and Temp)
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6. (10%) Summarize the following routine with a single if-then-else statement:
if X>10 goto L1

X=X+Y

goto L2
L1: X=X-Y
L2: stop

7. (10%) Let 4 be a 2-dimensional array 4(m,n) and each element occupy one address. If the
location of 4(3,2) is 810 and A(2, 3) is 815, then what is the location of A(1,5).

8. (10%) Design an algorithm for concatenating two linked lists (that is, placing one before
the other to form a single list).

9. Interm of the following relations, w hat is the appearance o f the relation R ESULT after
executing each of these instructions:

X relation Y relation
A B C D E
a k 3 7 b
b ] 5 8 c
c h 7

(2) (5%) RESULT € PROJECT B from X
(b) (5%) RESULT € SELECT from X where C=3
(c) (5%) RESULT € JOIN X and Y where C=D

10. Explain the following terms:
(a) (5%) SQL
(b) (5%) NP problem
(c) (5%) Prolog
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